

RUGER FROM HOME PRODUCT CATALOGUE





PERFORMANCE IN EVERY FIBRE

AS THE LEADING MANUFACTURER OF TISSUE PRODUCTS AND SYSTEM SOLUTIONS, KRUGER PRODUCTS AWAY FROM HOME (AFH) DIVISION IS COMMITTED TO ENSURING PRODUCT QUALITY, EXCEPTIONAL SERVICE AND COMPREHENSIVE BUSINESS OPTIMIZATION RUN THROUGH EVERY FIBRE OF OUR BUSINESS.

THROUGH OUR INTEGRATED OPERATIONS, MANUFACTURING AND CUSTOMER SERVICE TEAMS, WE CAN DELIVER THE RIGHT MIX OF PRODUCTS AND SERVICES — ENABLING US TO FOCUS ON ACHIEVING EXCELLENCE IN ALL WE DO FOR OUR CUSTOMERS.

PERFORMANCE REALLY DOES MATTER.



COST-IN-USE: (re) DEFINING SAVINGS ACROSS YOUR BUSINESS



Kruger Products is pleased to offer its customers the benefits of its Cost-In-Use business solutions tool — customized product solutions that take their entire business into account, and not just towel and tissue. Living out Performance In Every Fibre™, Kruger Products is actively engaged with customers to make sure that the product solutions developed both fulfill basic operating needs and positively impact the business on multiple fronts. Below is a list of potential positive benefits that a business can enjoy when using Kruger Products' recommended product system solutions, including improving the bottom line.

PERFORMANCE REALLY DOES MATTER.



CONTROLLED DISPENSING – Our complete line of product dispensing systems helps to reduce usage, waste and overall cost.



REDUCED CONSUMPTION – Product and dispenser solutions can actually reduce overall consumption, meaning fewer replacement purchases required over the year.



PRECISE PRODUCT COMPARISONS – Buy smart, before comparing two competitive products make sure all specifications are identical to ensure an accurate comparison is being made.



LABOUR COST SAVINGS – Direct savings from longer and/or better quality roll towel and tissue can translate to incremental labour savings for the business.



SUPPORT OF BRAND IMAGE – Better quality products influence customers' perception of a facility, resulting in positive experiences and repeat business.

At Kruger Products, our commitment to quality and customer service has made us a leader in the "Away From Home" marketplace. Our highly trained, solution driven, sales and marketing teams strive to ensure the highest levels of customer satisfaction and product excellence. No matter how demanding the requirements, Kruger Products' towel, tissue, napkin, handcare and wiper products can provide the right balance of quality, performance and cost effectiveness.

KRUGER PRODUCTS - NORTH AMERICA - AWAY FROM HOME DIVISION (AFH)

PRODUCT BRAND TIERS			
EMBASSY° Supreme	line of products under the Krug	denotes the ultimate in luxury and hygiene. It is the best er Products AFH umbrella of brands, designed for the most ducts offer the ultimate in luxury, quality and performance gth, absorbency and softness.	Bathroom lissile
EMBASSY' ULTIMATE LUXURY	that delivers excellent performa	a premium line of towel and bathroom tissue products nece. By offering outstanding functionality and premium tently provide great absorbency and softness.	 Towels Bathroom Tissue
Waln's wife	sensible price. This line of tissu	rs a good and consistent level of quality and reliability at a se products provides excellent value by combining the righ y and strength for the value minded customer.	Bathroom licella
Chalet"		produced with a sense of pride, made with virgin fibre, ifference in the napkin, towel, bathroom and facial tissue	• Towels
ESTEEM® AA METRO	These lines offer an environmer	deliver quality products at a very affordable price. Itally friendly choice made from up to 100% recycled Itandard level of softness, absorbency and strength.	 Towels Bathroom Tissue Napkins
CERTIFICATIONS			
FSC www.fsc.org	PRODUCT CERTIFIED FOR REDUCED ENVIRONMENTAL IMPACT. VIEW SPECIFIC ATTRIBUTES EVALUATED: ULCOM/EL UL175	Being concerned with environmental protection no longer means that you have to sacrifice quality! At Kruger Products we are proud to combine environmenta protection with quality paper products.	 Towels Bathroom Tissue Facial Tissue Napkins Wipers
Supreme	Premium	Classic	/alue
* FSC® Certified	ertified	tified 🚫 CFIA Certified 🍁 Available in Canada on	only W UL ECOLOGO Certified in the East only



program. Kruger Products understands the growing awareness and importance of good hygiene in reducing the risk of germ transfer and cross contamination, both from hard surfaces and from person to person. Every customer has different requirements and Kruger Products has a towel format for every need.

ROLL TOWELS

0	CODE	VALUE TIER	DESCRIPTION	CERTIFICATION	CUBIC (FT.)	WT (LBS.)	SIZE (W X L)	QUANTITY/ROLL	ROLLS/ CASE	QUANTITY/CASE	CASES/PALLET
	01261		Embassy® Thru-Air-Dried (TAD) ULRT® Ultra Long Roll Towel	_	1.9	25.8	8.0" x 1,000' (20.3 cm x 305 m)	1,000 ft. (305 m)	6	6,000 ft. (1,829 m)	55
	01110		Embassy® Supreme Thru-Air-Dried (TAD) Long Roll Towel	*	1.9	21.0	8.0" x 800' (20.3 cm x 243.8 m)	800 ft. (243.8 m)	6	4,800 ft. (1,463 m)	55
	01240		Embassy® Supreme Thru-Air-Dried (TAD) Roll Towel	*	1.8	18.0	8.0" x 600' (20.3 cm x 183 m)	600 ft. (183 m)	6	3,600 ft. (1,097 m)	55
	01210		Embassy® Supreme Thru-Air-Dried (TAD) Roll Towel	*	2.2	22.0	8.0" x 350' (20.3 cm x 106.7 m)	350 ft. (106.7 m)	12	4,200 ft. (1,280 m)	45
	01161		Embassy® ULRT® Ultra Long Roll Towel	0	1.9	29.1	8.0" x 1,000' (20.3 cm x 305 m)	1,000 ft. (305 m)	6	6,000 ft. (1,828 m)	55
	01190		Embassy® Roll Towel	* 🐠	3.1	30.5	8.0" x 500' (20.3 cm x 152 m)	500 ft. (152 m)	12	6,000 ft. (1,829 m)	30
	01564		Embassy® Roll Towel	* (0)	2.5	21.2	8.0" x 205' (20.3 cm x 63 m)	205 ft. (63 m)	24	4,920 ft. (1,500 m)	42
	01961		White Swan® ULRT® Ultra Long Roll Towel (longest roll towel in the market)	() ()	1.9	29.8	8.0" x 1,200' (20.3 cm x 366 m)	1,200 ft. (366 m)	6	7,200 ft. (2,194 m)	55
	01950		White Swan® Long Roll Towel	* 🐠 🔇	1.8	21.1	8.0" x 800' (20.3 cm x 244 m)	800 ft. (244 m)	6	4,800 ft. (1,463 m)	55
	01600		White Swan® Roll Towel	•	2.2	26.4	8.0" x 500' (20.3 cm x 152 m)	500 ft. (152 m)	12	6,000 ft. (1,829 m)	42
	01970		White Swan® Roll Towel	* (1)	2.0	18.1	8.0" x 350' (20.3 cm x 107 m)	350 ft. (107 m)	12	4,200 ft. (1,280 m)	45
	01930		White Swan® Roll Towel	* 🐠	2.5	20.1	8.0" x 205' (20.3 cm x 63 m)	205 ft. (63 m)	24	4,920 ft. (1,500 m)	42
	01841		Metro Roll Towel		2.8	32.8	8.0" x 600' (20.3 cm x 183 m)	600 ft. (183 m)	12	7,200 ft. (2,194 m)	25
	01855		Esteem® Long Roll Towel	* 🛞	1.8	21.4	8.0" x 800' (20.3 cm x 244 m)	800 ft. (244 m)	6	4,800 ft. (1,463 m)	55
	01842		Metro Roll Towel		2.8	26.9	8.0" x 600' (20.3 cm x 183 m)	600 ft. (183 m)	12	7,200 ft. (2,194 m)	25
	01845		Esteem® Roll Towel	*	2.2	23.3	8.0" x 425' (20.3 cm x 130 m)	425 ft. (130 m)	12	5,100 ft. (1,554 m)	42
	01860		Esteem® Roll Towel	*	2.0	18.4	8.0" x 350' (20.3 cm x 107 m)	350 ft. (107 m)	12	4,200 ft. (1,280 m)	45
	01830		Esteem® Roll Towel	*	2.5	21.2	8.0" x 205' (20.3 cm x 63 m)	205 ft. (63 m)	24	4,920 ft. (1,500 m)	42

* FSC® Certified



UL ECOLOGO Certified



CFIA Certified



EMBASSY® TAD ULTRA LONG ROLL TOWEL (01261) NOIR MINI TOUCHLESS ELECTRONIC (09850) AND MECHANICAL (09740) ROLL TOWEL DISPENSERS

Pairing any of Kruger Products' premium quality roll towels with one of its touchless dispensing systems will support good hand hygiene and provide numerous business benefits, including:

- A hygienic environment because users do not have to touch the dispenser, avoiding the spread of germs
- Unlike air dryers that both harbour and spread bacteria, paper towels are shown to reduce cross-contamination.
- Using ULRT® means fewer run-outs to frustrate users and less replacements required, freeing up maintenance staff to care for other duties
- Offering premium quality towels reinforces a positive perception users will have of a facility
- Both electronic and mechanical NOIR mini touchless dispensers and ADA compliant and can be used in HACCP-compliant environments



ROLL TOWELS CONTINUED

COMPATIBLE ROLL TOWEL DISPENSERS

	CODE	DESCRIPTION	FEATURES	COLOUR	CUBIC (FT.)	WT (LBS.)	SIZE (W X H X D)	QUANTITY/ CASE	FOR USE WITH	CASES/PALLET
	09850	NOIR Mini Touchless Electronic Roll Towel Dispenser	Touchless operation (wave activated or tear and dry) Length settings allow for controlled dispensing Sleek, European design ADA compliant Can be used in HACCP-compliant environments Requires 4 D cell batteries	Smoke/ Black Finish	1.1	9.2	11.8" x 14.0" x 9.1" (29.9 x 35.5 x 22.6 cm)	1	For use with all Embassy® Supreme, Embassy®, White Swan®, Esteem® and Metro Roll Towels	81
340	09740	NOIR Mini Touchless Mechanical Roll Towel Dispenser	Touchless operation avoids spread of germs Sleek, European design Rubber gasket in seal makes unit wash-down ready ADA compliant Can be used in HACCP-compliant environments	Smoke/ Black Finish	1.1	9.0	11.8" x 14.0" x 9.1" (29.9 x 35.5 x 22.6 cm)	1	For use with all Embassy® Supreme, Embassy®, White Swan®, Esteem® and Metro Roll Towels	81
	09742	Easy-Flow® Roll Towel Dispenser	Minimizes space requirements Free-hold dispensing Economical	White	0.7	3.3	11.6" x 10.0" x 8.9" (29.5 x 25.5 x 22.5 cm)	1	For use with all Embassy® Supreme, Embassy®, White Swan®, Esteem® and Metro Roll Towels	108
	09743	NOIR Easy-Flow® Roll Towel Dispenser	Minimizes space requirements Free-hold dispensing Economical	Black	0.7	3.3	11.6" x 10.0" x 8.9" (29.5 x 25.5 x 22.5 cm)	1	For use with all Embassy® Supreme, Embassy®, White Swan®, Esteem® and Metro Roll Towels	108
	09772	Designer® Push-Bar Roll Towel Dispenser	High capacity for long roll towels Stub roll feature Easy to load	Smoke/ Grey Finish	1.2	7.8	15.8" x 10.5" x 8.8" (40.0 x 26.7 x 22.2 cm)	1	For use with all Embassy® Supreme, Embassy®, White Swan®, Esteem® and Metro Roll Towels	81

CENTRE PULL TOWELS

	CODE	VALUE TIER	DESCRIPTION	CERTIFICATION	CUBIC (FT.)	WT (LBS.)	SIZE (W X L)	QUANTITY/ROLL	ROLLS/ CASE	QUANTITY/CASE	CASES/PALLET
6	01320		Embassy® Centre Pull Towel, 2-Ply	*	2.0	19.0	7.8" x 11.9" sheet (19.7 cm x 30.2 cm)	600 sheets	6	3,600 ft. (1,097 m)	55
	01300		White Swan® Centre Pull Towel, 1-Ply	* (1)	1.8	15.4	7.8" x 11.9" sheet (19.7 cm x 30.2 cm)	909 sheets	6	5,400 ft. (1,646 m)	50
1	01322		Esteem® Centre Pull Towel, 2-Ply	_	1.9	13.2	7.8" x 8" sheet (19.8 cm x 20.3 cm)	600 sheets	6	2,400 ft. (732 m)	55

COMPATIBLE CENTRE PULL DISPENSERS

CODE	DESCRIPTION	FEATURES	COLOUR	CUBIC (FT.)	WT (LBS.)	SIZE (W X H X D)	QUANTITY/ CASE	FOR USE WITH	CASES/PALLET
09410	NOIR Centre Pull Towel Dispenser	Adjustable nozzle Easy refill replacements Touchless, controlled dispensing	Smoke/ Black Finish	0.8	3.2	9.75" x 13.0" x 9.5" (24.7 x 33.0 x 24.1 cm)	1	Embassy® CPT 01320 White Swan® CPT 01300 Esteem® CPT 01322 Econo-WORKS® 02670	126



PROFESSIONAL (KITCHEN) TOWELS

0)		CODE	VALUE TIER	DESCRIPTION	CERTIFICATION	CUBIC (FT.)	WT (LBS.)	SIZE (W X L)	QUANTITY/ROLL	ROLLS/CASE	QUANTITY/CASE	CASES/PALLET
	,	01844		Embassy® Supreme 2-Ply	•	4.0	16.6	10.9" x 10.8" (27.7 cm x 27.4 cm)	72 Shts.	24	1,728 Shts.	24
		01122		Chalet® (HHT12210) 2-Ply	*	2.3	15.5	11.0" x 8.0" (27.9 cm x 20.3 cm)	210 Shts.	12	2,520 Shts.	48
		01650		White Swan® 2-Ply (West)	*	3.5	12.8	10.9" x 8.6" (27.7 cm x 21.8 cm)	90 Shts.	24	2,160 Shts.	24
		01656		White Swan® 2-Ply (East)	(b)	4.0	13.3	10.9" x 8.6" (27.7 cm x 21.8 cm)	80 Shts.	30	2,400 Shts.	24
		01702		White Swan® (HHT30702) 2-Ply	0	3.3	13.6	11.0" x 8.3" (27.9 cm x 21.1 cm)	70 Shts.	30	2,100 Shts.	24
		01870		White Swan® 2-Ply (2 Rolls/Pack)	* 🚳	3.5	11.7	10.9" x 8.6" (27.7 cm x 21.8 cm)	80 Shts.	24	1,920 Shts.	24
		01880		White Swan® 2-Ply	0	4.0	19.7	10.9" x 8.6" (27.7 cm x 21.8 cm)	150 Shts.	24	3,600 Shts.	24
841 P		01890		White Swan® 2-Ply (East)	(b)	3.4	11.8	10.9" x 8.6" (27.7 cm x 21.8 cm)	90 Shts.	24	2,160 Shts.	28

SINGLEFOLD TOWELS

	CODE	VALUE TIER	DESCRIPTION	CERTIFICATION	CUBIC (FT.)	WT (LBS.)	SIZE (W X L)	QUANTITY/PACK	PACKS/CASE	QUANTITY/CASE	CASES/PALLET
	01250		Embassy® Supreme Singlefold	*	2.7	24.7	9.0" x 10.7" (22.9 cm x 27.2 cm)	188 Shts.	16	3,008 Shts.	50
False	01010		Embassy® Singlefold	* 🐠	2.1	24.7	9.0" x 10.7" (22.9 cm x 27.2 cm)	250 Shts.	16	4,000 Shts.	50
Avan.	01900		White Swan® Singlefold (West)	(2.1	24.7	9.0" x 10.7" (22.9 cm x 27.2 cm)	250 Shts.	16	4,000 Shts.	50
Sala Sala Sala	01904		White Swan® Singlefold (East)	* 🐠	2.0	17.4	9.0" x 10.7" (22.9 cm x 27.2 cm)	250 Shts.	16	4,000 Shts.	60
	01800		Esteem® Singlefold	*	2.0	17.7	9.0" x 10.7" (22.9 cm x 27.2 cm)	250 Shts.	16	4,000 Shts.	60
	01000		Metro (SF4000K) Singlefold	_	1.6	15.0	9.0" x 9.0" (22.9 cm x 22.9 cm)	250 Shts.	16	4,000 Shts.	60







MULTIFOLD TOWELS

	CODE	VALUE TIER	DESCRIPTION	CERTIFICATION	CUBIC (FT.)	WT (LBS.)	SIZE (W X L)	QUANTITY/PACK	PACKS/CASE	QUANTITY/CASE	CASES/PALLET
Erobasse Erobasse Erobasse	01265		Embassy® Supreme Multifold	*	1.7	17.9	9.0" x 9.5" (22.9 cm x 24.1 cm)	250 Shts.	12	3,000 Shts.	60
5 - 5 - 5 - 5 - 5 - 5 - 5 - 5 - 5 - 5 -	01540		Embassy® Multifold	* 🐠	1.7	17.7	9.0" x 9.5" (22.9 cm x 24.1 cm)	334 Shts.	12	4,008 Shts.	60
	01920		White Swan® Multifold	* 🐠	1.7	15.2	9.0" x 9.5" (22.9 cm x 24.1 cm)	334 Shts.	12	4,008 Shts.	60
	01820		Esteem ® Multifold	*	1.7	15.4	9.0" x 9.5" (22.9 cm x 24.1 cm)	334 Shts.	12	4,008 Shts.	60

C-FOLD TOWELS

CODE	VALUE TIER	DESCRIPTION	CERTIFICATION	CUBIC (FT.)	WT (LBS.)	SIZE (W X L)	QUANTITY/PACK	PACKS/CASE	QUANTITY/CASE	CASES/PALLET
01097		Embassy ® C-Fold	_	1.2	18.6	13.0" x 10.0" (33.0 cm x 25.4 cm)	200 Shts.	12	2,400 Shts.	81
01095		White Swan® C-Fold	_	1.2	14.2	13.0" x 10.0" (33.0 cm x 25.4 cm)	200 Shts.	12	2,400 Shts.	81
01024		Metro® (CF12200W) C-Fold	_	1.7	16.9	13.0" x 10.0" (33.0 cm x 25.4 cm)	200 Shts.	12	2,400 Shts.	81

COMPATIBLE FOLDED TOWEL DISPENSERS

CODE	DESCRIPTION	FEATURES	COLOUR	CUBIC (FT.)	WT (LBS.)	SIZE (W X H X D)	QUANTITY/ Case	FOR USE WITH	CASES/PALLET
09110	NOIR Folded Towel Dispenser	• Sleek, European design	Smoke/ Black Finish	0.4	2.9	10.8" x 14.7" x 4.2" (27.5 x 37.4 x 10.6 cm)	1	For use with all Embassy® Supreme , Embassy® , White Swan® . Esteem® and Metro Singlefold, Multifold and C-Fold Towels	136
09111	NOIR Multifold CounterTop Dispenser	Sleek black finish compatible with any décor	Black Finish	0.3	2.6	10.6" x 10.4" x 4.1" (27.0 x 26.5 x 10.5 cm)	1	For use with all Embassy® Supreme , Embassy® . White Swan® and Esteem® Multifold Towels	312

EMBASSY® SUPREME SINGLEFOLD TOWEL (01250) AND NOIR FOLDED TOWEL DISPENSER (09110)

Using premium quality folded towels by Kruger Products ensures better performing results for hand drying efficiency. Better quality towels require less to get the job done, meaning less replacement orders will be required, saving dollars.





* FSC® Certified

UL ECOLOGO Certified



CONVENTIONAL BATHROOM TISSUE

0	CODE	VALUE TIER	DESCRIPTION	WRAP	CERTIFICATION	CUBIC (FT.)	WT (LBS.)	SIZE (W X L)	QUANTITY/ ROLL	ROLLS/ CASE	QUANTITY/ CASE	CASES/PALLET
	05440		Embassy® Supreme 2-Ply	Poly	*	2.5	14.4	4.2" x 4.0" (10.7 cm x 10.2 cm)	418 Shts.	40	16,720 Shts.	40
1	05131		Embassy® 2-Ply (West)	Poly	_	2.5	18.4	4.2" x 4.0" (10.7 cm x 10.2 cm)	506 Shts.	48	24,288 Shts.	40
	05185		Embassy® 2-Ply	Paper	•	5.1	35.4	4.5" x 3.8" (11.4 cm x 9.5 cm)	600 Shts.	80	48,000 Shts.	20
25	05705		Purex® 2-Ply ₩	Poly	* 🚳	3.6	22.5	4.2" x 4.0" (10.7 cm x 10.2 cm)	506 Shts.	60	30,360 Shts.	28
	05780		Embassy® 2-Ply	Poly	* (1)	4.8	29.6	4.2" x 4.0" (10.7 x 10.2 cm)	506 Shts.	80	40,480 Shts.	20
	05103		White Swan [®] 1-Ply	Poly	_	2.3	22.4	4.2" x 4.0" (10.7 cm x 10.2 cm)	1,000 Shts.	48	48,000 Shts.	40
	05144		White Swan® 2-Ply	Poly	(b)	2.3	14.4	4.2" x 4.0" (10.7 cm x 10.2 cm)	429 Shts.	48	20,592 Shts.	40
	05480		Metro (BRT481001) 1-Ply	Paper	_	2.5	21.0	4.2" x 3.8" (10.7 cm x 9.7 cm)	1,000 Shts.	48	48,000 Shts.	50
	05482		Metro (BRT48422) 2-Ply	Paper	_	2.3	13.4	4.2" x 3.8" (10.67 cm x 9.7 cm)	420 Shts.	48	20,160 Shts	50
	05485		Metro (BRT48505) 2-Ply	Paper	_	2.5	17.5	4.2" x 3.8" (10.7 cm x 9.7 cm)	500 Shts.	48	24,000 Shts.	50

COMPATIBLE CONVENTIONAL BATHROOM TISSUE DISPENSERS

CODE	DESCRIPTION	FEATURES	COLOUR	CUBIC (FT.)	WT (LBS.)	SIZE (W X H X D)	QUANTITY/ Case	FOR USE WITH	CASES/PALLET
09652	NOIR Twin Bathroom Tissue Dispenser	Holds 2 conventional bathroom tissue rolls Allows for more capacity than a single roll dispenser Sleek, European design	Smoke/ Black Finish	0.3	2.4	11.6" x 7.1" x 6.8" (29.5 x 18.0 x 17.3 cm)	1	For use with all Embassy® Supreme, Embassy®, White Swan®. Esteem® and Metro Singlefold, Multifold and C-Fold Towels	216





JUMBO BATHROOM TISSUE

DIAMETER = 7.3"	CODE	VALUE TIER	DESCRIPTION	CERTIFICATION	CUBIC (FT.)	WT (LBS.)	SIZE (W X L)	QUANTITY/ROLL	ROLLS/ CASE	QUANTITY/CASE	CASES/PALLET
0	05625		Mini-Max® JBT 2-Ply	* (0)	2.4	26.6	3.7" x 750' (9.4 cm x 229 m)	750 ft. (229 m)	18	13,500 ft. (4,115 m)	40
0	05615		Mini-Max® JBT 1-Ply	* (0)	2.4	31.2	3.7" x 1,500' (9.4 cm x 457 m)	1,500 ft. (457 m)	18	27,000 ft. (8,229 m)	40
DIAMETER = 9.0"	CODE	VALUE TIER	DESCRIPTION	CERTIFICATION	CUBIC (FT.)	WT (LBS.)	SIZE (W X L)	QUANTITY/ROLL	ROLLS/ CASE	QUANTITY/CASE	CASES/PALLET
•	05620		Purex® JBT Jr. 2-Ply	* (0)	1.6	15.9	3.7" x 1,000' (9.4 cm x 305 m)	1,000 ft. (305 m)	8	8,000 ft. (2,438 m)	60
0	05621		Embassy® JBT Jr. 2-Ply	* 🐠	1.6	15.9	3.7" x 1,000' (9.4 cm x 305 m)	1,000 ft. (305 m)	8	8,000 ft. (2,438 m)	60
•	05610		White Swan® JBT Jr. 1-Ply	* (1)	1.6	18.6	3.7" x 2,000' (9.4 cm x 610 m)	2,000 ft. (610 m)	8	16,000 ft. (4,876 m)	60
	05611		Esteem® JBT 1-Ply	* (1)	1.4	16.9	3.3" x 2,000' (8.4 cm x 610 m)	2,000 ft. (610 m)	8	16,000 ft. (4,876 m)	70
•	05662		Esteem® JBT 2-Ply	* (0)	1.5	13.8	3.3" x 1,000' (8.4 cm x 305 m)	1,000 ft. (305 m)	8	8,000 ft. (2,438 m)	70
DIAMETER = 12.5"	CODE	VALUE TIER	DESCRIPTION	CERTIFICATION	CUBIC (FT.)	WT (LBS.)	SIZE (W X L)	QUANTITY/ROLL	ROLLS/ CASE	QUANTITY/CASE	CASES/PALLET
0	05660		Purex® JBT 2-Ply	•	1.5	17.0	3.7" x 2,000' (9.4 cm x 610 m)	2,000 ft. (610 m)	4	8,000 ft. (2,438 m)	72
	05661		Embassy® JBT 2-Ply	* (1)	1.5	17.0	3.7" x 2,000' (9.4 cm x 610 m)	2,000 ft. (610 m)	4	8,000 ft. (2,438 m)	72
0	05653		White Swan® JBT 1-Ply	* (1)	1.6	18.6	3.7" x 4,000' (9.4 cm x 1,219 m)	4,000 ft. (1,219 m)	4	16,000 ft. (4,876 m)	72

COMPATIBLE JUMBO BATHROOM TISSUE DISPENSERS

	CODE	DESCRIPTION	FEATURES	COLOUR	CUBIC (FT.)	WT (LBS.)	SIZE (W X H X D)	QUANTITY/ CASE	FOR USE WITH	CASES/PALLET
	09655	NOIR Mini-Max [®] JBT Dispenser	Small dispenser footprint Holds high capacity rolls Sleek, European design	Smoke/ Black Finish	0.5	8.0	15.7" x 10.4" x 5.3" (40.0 x 26.5 x 13.5 cm)	1	Embassy® 05625 White Swan® 05615	156
	09645	NOIR JBT Jr. Twin Dispenser	Prevents stub roll waste Holds equivalent to 12 conventional rolls Sleek, European design	Smoke/ Black Finish	0.8	7.0	20.0" x 12.8" x 5.4" (50.8 x 32.5 x 13.7 cm)	1	Embassy® 05621 Purex® 05620 White Swan® 05610 Esteem® 05611, 05662	90
	09632	NOIR JBT Jr. Dispenser	Holds equivalent to 6 conventional rolls Reduces stub roll waste Sleek, European design	Smoke/ Black Finish	0.3	2.4	10.4" x 11.2" x 5.0" (26.5 x 28.4 x 12.7 cm)	1	Embassy® 05621 Purex® 05620 White Swan® 05610 Esteem® 05611, 05662	217
•	09692	NOIR JBT Sr. Dispenser	Holds equivalent to 12 conventional rolls Sleek, European design	Smoke/ Black Finish	0.9	3.8	13.0" x 14.7" x 5.4" (33 x 37.3 x 13.7 cm)	1	Embassy® 05661 Purex® 05660 White Swan® 05653	81

^{*} FSC® Certified

UL ECOLOGO Certified

Available in Canada only



FACIAL TISSUE

	CODE	VALUE TIER	DESCRIPTION	CERTIFICATION	CUBIC (FT.)	WT (LBS.)	SIZE	TISSUES/BOX	UNITS/CASE	TISSUES/CASE	CASES/PALLET
	08920		Embassy® 2-Ply Facial Tissue	*	1.8	13.8	7.4" x 8.2" (18.8 cm x 20.8 cm)	100	36	3,600	60
A distribution	08300		White Swan® 2-Ply Facial Tissue	0	1.8	11.6	7.4" x 8.2" (18.8 cm x 20.8 cm)	100	36	3,600	60
	CODE	VALUE TIER	DESCRIPTION	CERTIFICATION	CUBIC (FT.)	WT (LBS.)	SIZE	TISSUES/BOX	UNITS/CASE	TISSUES/CASE	CASES/PALLET
	08906		Embassy® Supreme 2-Ply Cube Facial Tissue	*	1.5	15.0	8.4" x 8.2" (21.3 cm x 20.8 cm)	100	36	3,600	36
	08500		White Swan® 2-Ply Quick Wipes	(3.4	25.0	8.4" x 4.3" (21.3 cm x 10.9 cm)	80	135	10,800	30

EMBASSY® 2-PLY FACIAL TISSUE – FLATPACK (08920) AND CUBE (08906)

- Luxurious, premium quality facial tissue
- Packaging design provides an upscale, 2-Ply bathroom tissue (05440)
- an establishment's image to customers
- Fits all standard flat and cube facial tissue holders







NAPKINS

White Swan® is the trusted name in napkins, setting the standard for strength, absorbency and elegance. Available in dinner, beverage, luncheon and dispenser formats, White Swan® napkins are perfect for any occasion. Our strong and absorbent 1-Ply dinner napkin will outperform most other 2-Ply napkins. To make a great impression, use White Swan® napkins so customers know they are getting the best.

NAPKINS

	CODE	VALUE TIER	DESCRIPTION	CERTIFICATION	CUBIC (FT.)	WT (LBS.)	SIZE	QUANTITY/PACK	UNITS/CASE	QUANTITY/CASE	CASES/PALLET
Swan.	07600		White Swan® 2-Ply Dinner, 8 Fold	*	3.0	33.3	15.8" x 16.8" (40.1 cm x 42.7 cm)	200	12	2,400	36
500	07655		White Swan® 2-Ply Dinner, 8 Fold	_	3.2	35.0	15.0" x 16.0" (38.1 cm x 40.6 cm)	188	16	3,008	30
Swan	07900		White Swan® 1-Ply Dinner, 8 Fold	* (1)	3.0	25.0	15.8" x 16.8" (40.1 cm x 42.7 cm)	250	12	3,000	36
2000	07955		White Swan® 1-Ply Dinner, 8 Fold	0	2.2	22.1	15.0" x 16.0" (38.1 cm x 40.6 cm)	300	10	3,000	48
\Diamond	CODE	VALUE TIER	DESCRIPTION	CERTIFICATION	CUBIC (FT.)	WT (LBS.)	SIZE	QUANTITY/PACK	UNITS/CASE	QUANTITY/CASE	CASES/PALLET
Swan.	07400		White Swan® 1-Ply Luncheon, 4 Fold	0	2.7	18.9	11.0" x 13.0" (27.94 cm x 33.02 cm)	250	16	4,000	35
State .	07301		White Swan® 2-Ply Beverage, 4 Fold	_	1.8	16.9	9" x 9" (22.7 cm x 22.7 cm)	300	12	3,600	56
SMA	07201		White Swan® 1-Ply Beverage, 4 Fold	0	2.1	12.2	9" x 9" (22.7 cm x 22.7 cm)	500	8	4,000	80
	CODE	VALUE TIER	DESCRIPTION	CERTIFICATION	CUBIC (FT.)	WT (LBS.)	SIZE	QUANTITY/PACK	UNITS/CASE	QUANTITY/CASE	CASES/PALLET
4.5	06650		White Swan® 2-Ply Interfold	(1)	2.1	20.5	6.5" x 9.0" (16.5 cm x 22.9 cm)	250	24	6,000	49
Swan.	06700		White Swan® 1-Ply Meal Mates®	* (1)	3.3	26.1	11.9" x 13.0" (30.2 cm x 33.0 cm)	300	18	5,400	36
Series and	06800		White Swan® 1-Ply Meal Mates®	* (1)	3.7	30.2	10.3" x 16.9" (25.9 cm x 42.7 cm)	250	24	6,000	32
MITRO	06786		Metro 1-Ply Meal Mates®	* (1)	2.8	17.4	11.9" x 13.0" (30.2 cm x 33.0 cm)	300	12	3,600	42
	CODE	VALUE TIER	DESCRIPTION	CERTIFICATION	CUBIC (FT.)	WT (LBS.)	SIZE	QUANTITY/PACK	UNITS/CASE	QUANTITY/CASE	CASES/PALLET
SWA _D	08100		White Swan®	()	3.2	22.1	6.0" x 13.5" (15.2 cm x 34.2 cm)	750	12	9,000	48
			1-Ply Jr. Tall Fold								

COMPATIBLE NAPKIN DISPENSERS

CODE	DESCRIPTION	FEATURES	COLOUR	CUBIC (FT.)	WT (LBS.)	SIZE (W X H X D)	QUANTITY/ Case	FOR USE WITH	CASES/PALLET
09311	Onliwon® CounterTop Napkin Dispenser	One at a time controlled dispensing	Silver Finish	0.6	4.0	8.0" x 7.3" x 15.8" (20.3 x 18.4 x 40.0 cm)	1	White Swan® Interfold Napkins 06650 White Swan® Meal Mates® Napkins 06700, 06800 Metro Meal Mates® Napkins 06786	75
09333	Onliwon® Table Top Napkin Dispenser	Window for advertising opportunities	Smoke/Grey Finish	0.2	1.8	7.3" x 6.1" x 6.3" (17.2 x 16.5 x 15.7 cm)	1	White Swan® Interfold Napkins 06650 White Swan® Meal Mates® Napkins 06700, 06800 Metro Meal Mates® Napkins 06786	432

^{*} FSC® Certified

UL ECOLOGO Certified



HANDCARE

	CODE	DESCRIPTION	CERTIFICATION	CUBIC (FT.)	WT (LBS.)	SIZE	QUANTITY/CASE	CASES/PALLET
	03473	Hands Fresh® Anti-Bacterial Spray Soap (DIN 02219433)	8	0.3	12.5	400 mL	12	150
100	03475	Hands Fresh® Lotion Spray Soap	_	0.3	12.5	400 mL	12	150
100	03480	Toilet Seat Cleaner Refill	_	0.2	5.0	300 mL	6	360
	03470	Feel Fresh® Hand Sanitizing Spray (NPN 02245702, 63% Alcohol)	8	0.2	5.0	300 mL	6	360
	03400	Hands Fresh® Luxury Foam Soap	_	0.7	25.0	800 mL	12	91
***	03420	Hands Fresh® Anti-Bacterial Foam Soap (DIN 02245467)	8	0.7	25.0	800 mL	12	91
	03500	Hands Fresh® Luxury Foam Soap	~	0.3	11.8	1,000 mL	4	175
E	03530	Hands Fresh® Anti-Bacterial Foam Soap with Moisturizers (DIN 02245467)	8	0.3	11.8	1,000 mL	4	175
1	03570	Hands Fresh® Alcohol-Free Foam Sanitizer (DIN 02320258)	_	0.3	11.8	1,000 mL	4	175

COMPATIBLE HANDCARE DISPENSERS

	CODE	DESCRIPTION	FEATURES	COLOUR	CUBIC (FT.)	WT (LBS.)	SIZE	QUANTITY/ CASE	FOR USE WITH	CASES/ Pallet
Ĭ.	09250	Da Vinci® Hands Fresh® Foam Soap Dispenser	Reduces soap usage compared to liquid spray dispensers	White/ Black Trim	0.2	1.5	5.3" x 4.7" x 10.1" (13.3 x 11.4 x 25.4 cm)	1	Hands Fresh® Luxury Foam Soap 03400 Hands Fresh® Anti-Bacterial Foam Soap 03420	360
Mon	09260	Da Vinci® Feel Fresh® Hand Sanitizer Dispenser	Spray-on system kills 99.9% of the most common germs on contact Cost effective (reduces product usage up to 60%)	White Finish	0.1	0.8	8.3" x 4.8" x 3.8" (21.6 x 11.4 x 9.5 cm)	1	Feel Fresh® Hand Sanitizing Spray 03470	675
ā	09275	Da Vinci ® Spray Soap Dispenser	• Cost effective (reduces product usage up to 60%)	White Finish	0.1	0.8	8.3" x 4.8" x 3.8" (21.6 x 11.4 x 9.5 cm)	1	Hands Fresh® Anti-Bacterial Spray Soap 03473 Hands Fresh® Lotion Spray Soap 03475	675
	09575	Da Vinci® Toilet Seat Cleaner Dispenser	Easy to use Cost effective (costs less than toilet seat covers)	White Finish	0.1	0.8	8.3" x 4.8" x 3.8" (20.3 x 12.1 x 9.5 cm)	1	Toilet Seat Cleaner Refill 03480	675
	09430	Hands Fresh® Touchless Foam Dispenser	Automatic dispensing reduces the chance of cross-contamination and avoids waste Up to 2,500 hand washes/pouch Dispenser designed to increase the battery life up to 6 times longer than the competition Requires 4 C cell batteries	Stainless Steel Finish	0.2	2.2	10.9" x 5.2" x 5.2" (27.7 x 13.2 x 13.5 cm)	1	Hands Fresh® Luxury Foam Soap 03500 Hands Fresh® Anti-Bacterial Foam Soap with Moisturizers 03530 Hands Fresh® Alcohol Free Foam Sanitizer 03570	350
	09450	Hands Fresh® Touchless Foam Dispenser	Automatic dispensing reduces the chance of cross-contamination and avoids waste Up to 2,500 hand washes/pouch Dispenser designed to increase the battery life up to 6 times longer than the competition Requires 4 C cell batteries	Smoke Grey/ Black Finish	0.2	2.2	10.9" x 5.2" x 5.2" (27.7 x 13.2 x 13.5 cm)	1	Hands Fresh® Luxury Foam Soap 03500 Hands Fresh® Anti-Bacterial Foam Soap with Moisturizers 03530 Hands Fresh® Alcohol Free Foam Sanitizer 03570	350
	09470	Hands Fresh® Touchless Foam Dispenser	Automatic dispensing reduces the chance of cross-contamination and avoids waste Up to 2,500 hand washes/pouch Dispenser designed to increase the battery life up to 6 times longer than the competition Requires 4 C cell batteries	White Finish	0.2	2.2	10.9" x 5.2" x 5.2" (27.7 x 13.2 x 13.5 cm)	1	Hands Fresh® Luxury Foam Soap 03500 Hands Fresh® Anti-Bacterial Foam Soap with Moisturizers 03530 Hands Fresh® Alcohol Free Foam Sanitizer 03570	350
	09455	Hands Fresh® Dispenser Stand	Ideal for high traffic public locations where soap and water are not available	Black Finish	1.7	30	14.4" x 59" x 14.4" (36.6 x 149.9 x 36.9 cm)	1	Da Vinci® 09260 Hands Fresh® Touchless Foam Dispenser 09430, 09450, 09470	24

*Green Seal™ Certified



CFIA Certified



WIPERS

FAMILY		CODE	DESCRIPTION	CERTIFICATION	CUBIC (FT.)	WT (LBS.)	SIZE	ROLLS/ CASE	QUANTITY/ CASE	CASES/PALLET
All-WORKS® • Drapeable, soft and very absorbant	All Marie	02710	All-WORKS® 1/4 Fold, White	_	2.5	15.5	11.8" x 13.0" (29.9 cm x 33.0 cm)	18	56	42
Double re-creped manufacturing, increases thickness and provides good hand feel Made of wood pulp fibres that are natural and biodegradeable		02720	All-WORKS® Tote-Pack, White	_	2.4	21.6	8.5" x 16.5" (21.6 cm x 41.9 cm)	8	100	40
Dispenser tote packaging controls inventory and provides ability to measure usage		02750	All-WORKS® 11" Roll, White	-	2.0	12.9	9.4" x 11.0" (23.9 cm x 27.9 cm)	12	74	48
		02821	AII-WORKS® Easy Up, White	_	1.7	20.6	8.5" x 16.5" (21.6 cm x 41.9 cm)	4	180	66
Dupont TM Sontara® • Multi-Purpose shop towel • Exceptional durability and solvent resistance	Matthew 72 or 10 to 10 t	02941	Dupont™ Sontara® Multi-Purpose Shop Towel, Easy Up, White	8	0.8	6.0	12.0" x 16.5" (30.5 cm x 41.9 cm)	1	250	48
Dispenser tote packaging controls inventory and provides ability to measure usage		02942	Dupont™ Sontara® Multi-Purpose Shop Towel, Easy Up, Blue/Green	※	0.8	6.0	12.0" x 16.5" (30.5 cm x 41.9 cm)	1	250	48
Econo WORKS® • Centre pull roll format		02660	Econo WORKS® Centre Pull Roll, White	_	1.0	9.8	8.9" x 13.1" (22.6 cm x 33.3 cm)	2	375	100
Industrial size and strength For general cleaning and wiping needs		02670	Econo WORKS® Centre Pull Jr. Roll, White	_	1.3	11.7	8.0" x 13.1" (20.3 cm x 33.3 cm)	6	175	77
Food WORKS® • Washable and reusable • Has built in antimicrobial protection	Selection of the select	02361	Food WORKS® Anti-microbial, Blue Stripe	_	0.7	5.0	13.5" x 21.0" (34.2 cm x 53.3 cm)	1	150	120
Low-linting, ideal for food preparation environments	F-1	02363	Food WORKS® Anti-microbial, White & Blue Stripe	_	0.7	5.0	13.5" x 21.0" (34.2 cm x 53.3 cm)	1	150	120
General WORKS® • Economical • Multi-Purpose paper wiper	Winn I	02770	General WORKS® 1/4 Fold, 2-Ply, White	•	2.9	22.7	13.0" x 15.0" (33.0 cm x 38.1 cm)	24	50	35
Scrim-WORKS® • Nylon reinforced paper wiper • Strong and durable		02130	Scrim-WORKS® 4-Ply, White	_	1.1	17.2	9.8" x 175' (24.8 cm x 53 m)	6	175 ft.	90
Strong and durable		02150	Scrim-WORKS® 4-Ply, White	_	1.4	22.7	19.3" x 175' (49.5 cm x 53 m)	4	175 ft.	64
	97 m	02180	Scrim-WORKS® 1/4 Fold, 4-Ply, White	_	1.5	16.6	13.0" x 15.0" (33.0 cm x 38.1 cm)	16	50	64
									*	









PERFORMANCE IN EVERY FIBRE[™]



AWAY FROM HOME

Customer Service: 1.800.665.5610 krugerproducts.com/afh













© 2017, ® Registered and TM Trademarks of Kruger Products AFH L.P., a Kruger Products L.P. Company ECOLOGO® Certified products are certified to ECOLOGO® standards for reduced environmental impact.

For more information, visit ul.com/el.

® Forest Stewardship Council and FSC Logo — Forest Stewardship Council, A.C.

*The Hands Fresh® Luxury Foam Soap product meets Green Seal™ Standard GS-41A based on effective
performance and protective limits on VOCs and human & environmental toxicity. GreenSeal.org.
USGBC® and the related logo are trademarks owned by the U.S. Green Building Council and are used with permission.
® Earth Day Canada used under license

All product availability will be subject to distribution agreements. Product specifications are approximate and subject to change.

All FSC® certified products are labelled in catalogue.